6/ kY (19~
E2XRHHY ~=
5/\k>
4Nk
mosL (H—
FE2ME -
go—xFH O—
1R @ —
3/\NkY
2k -
1Nk @/
£1SL —

\

BL ®1—XFEXRY ()——

1R

1R O——

—

™ FA 25

HEHRTFRE
[CEY30A] x5
[F4T15A] x 1

[16ch Multi] x 1 (B)

[SPC] x 2 |
[LAN]x2 & FF#x2 )

[CE!30A] x 1
[*F1T15A] x 1

[16ch Multi] x 1 (E)
[SPC] x 2

Y

FCHz

[Mic] x 2
[SPC] x 2

: [LAN] x 2 ©T$mX21

Bj—

‘\

[SPC] x 2
[LAN] x 8

[CEY30A] x 5
[F£4T15A] x 1
|16ch Multi] x 2 (A / B)

& EFHx2

[BNC] x 6
& EFHx2

& FEE X2

N

S BREEFF X2
& BEHHETF x2
& BREPARE x 2

& BREPARE x 2

J

EEE

amm

A5 A FAT—UTEE)

[Mic] x 2

-

A] IR LEEE 2 —
NG THIDFR— )L |
1F FEmE 1/100 (A3)

SEHHEEF
[CEY30A] x 5
[F1T15A] x 1

[16ch Multi] x 1 (D)
[SPC] x 2

[CEY30A] x 1

[F4T15A] x 1

[16ch Multi] x 1 (F)
[SPC] x 2
ARASZARRAT—ULFH

L+ FhiE
[CEY30A] x5

[F4T715A] x 1

[16ch Multi] x 2 (C / D)

[SPC] x 2
[LAN] x 2

& TF#ix 2
[BNC] x 6

& TFHlx2

|
FEHFAE H20

SEER

[Mic] x 32 (BA#ESE) « TFH#

[Mic] x 16 (FpfiEE48) © T F 4k
[Mic] x 4 (x/ 3)

[Mic] x2 (7#BA—ZFKy b)
[Micl x4 (B1¥¥ 5V —)
[Mic]l x4 (883¥ 35V —)

H

[F4T15A] x 1

[Mic] x 2
~
LL ZRE )
[Mic] x 2
—————

ZEPAEAE M18/19

._ ﬁﬁﬁﬁﬁﬁ
i e e |
|
@ﬁ@%\? ql TI | ql ? =
[Mic] x 8 (1FEEFE) ;
[Mic] x 8 (2BEE %)

[Mic] x2 (k74 )
[Mic] x 8 (MEB=E)(+ 5 > Z1F)

[Mic] x 2 GAXE)(b 5 > R 1)

[Mic] x 2 GEHES )

— | || Bl

T 1 | i N\ | |

A

)

§-7 V&R (89 25m)

EREPAR(L21%) © TF(EF)

[CE!30A] x 1

[F£4T15A] x 1

[16¢ch Multi] x 4 (A/C/E/F)
[SPC] x 2

[LAN]x2 & FTF#ix2

N

1 7 T I |

[BNC]x2 < FTF#ix2
N ~ Vi




KUY MR —
KEH ‘%
FE2RARGR @——

8Nk .
UHL —5@%;%%9‘@\
EawE @
7/(%)@@&
E3SL
BB @)
%3—XFH &
6/NFY (19~
E2RRATRY ~=
5/ k2 —
4Nk -
gosL (m—
ELE R -
F2—XFE O : ; A —
E1XRRERY @ — | - —

3Ry ()~

Nk —/_ ; : . : ! ; ; ! . ! ; ; ! . : =
iiSNcZd e
ALFOK ERE ; | | | | | | | | | | BRI

BL #1—xFH#RY ()—

E1wE o — | s | | s s s | | s | _
L @@/— [Mic] x 2 (1, 2) | | | | | | | | | I [Mic] x 2 (3, 4)
hElEE (O — ‘ j j j j : j j s
Ay O—— | | | | | | | '
TaY—

RS
#F1x#reE O——S : za

4 )
|
| EER ——
1 &
i [Mic] x 2 (5. 6) Vo =i
A B SbElEE 2 — AN — | [Mic] x 2 (7. 8)
INEISS TR DFR—)L | B == fig |
OF _T@ER 1/100 (A3) , = ——
3 6 9 12 15 18 (R [F4T15A] x 1 -
S [Mic] x 8 = [Mic] x 2
12 3 4 5 6@ K [LAN]x2 & FF#ix2 nm
ﬁﬁ‘l 7 Tl 1 —




